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MANAGEMENT (PAPER-])

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be
attempted choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.
Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a

question shall be counted even if attempted partly. Any page or portion of the page left
blank in the Question-cum-Answer Booklet must be clearly struck off.
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WUE—A |/ SECTION—A

1. f=fafea 4 8 va@s &1 amm 150 vt & 3w 4w
Answer the following in about 150 words each : 10x5=50

(@) ‘3@ WER ¥ Fad OF € AW wrf R, 98 § whad)” 8 g W feoft Hifse) s w
T RIS o S AEaYl 1 e—FTRIed ST¥a1 IREdd
“There is only one thing permanent in this world, i.e., change.” Comment on

this statement. In your opinion, what is more important for a government
organization—stability or change?

(b) T sAftrmEt & st feeft siftrm o famm Fgfe F St 1 W 0 § sEea T
| fafir gama fg @ifen fesht wiem & fafeim w yem § gur fFn st as)
Most of the government officers fail to serve the purpose of overseas learning

and development assignments. Suggest different interventions which can
improve the return on investment on overseas training.

(¢ (i) ¥ 8 TER F TG G E? A I P T §9 | w2 FHiR)
(i) T H A A F A a7 e i faaem Aifsg)
(i) Whether all types of stress are bad? Justify your answer. 5

(ii) Discuss the role of Yoga and Meditation in managing stress.

(d) rife gmed, s, i T wEAeTs R F aiffen aerarfiar e sgaar A 9 v g,
S Rt oft srseff & waifies whft st &)1 el on wm Y 37 qwR w1 TR AT S T D
forarmadt, Terarfea qun sieraan, i SiteR g 9T STl @)

Apart from physical ability, language, intelligence and emotional stability,
honesty and integrity are the two most sought after characteristics required in
any candidate. Describe the techniques followed in Recruitment and Selection
to check these two characteristics of honesty and integrity.

(e) ‘v ¥ WIS IS HaER i e dgifas iy ®1 1 o9 39 Shed | WEHd &7
H I ) 3 e ¥ Fela i

“In India, social responsibility is more in theory than in practice.” Do you agree
with this statement? Support your answer with suitable examples.

2. (a) WHEE A (THo 3Ro) W=l Hl T fidt iFi o wAE A =S @ A W 8| HHE
HHIEA a1 TG (THo 3o 3M3o Teo) FHH TF IaTEW ¥| HAY § Tdo 3ARo 3o THo Hi
fadam fifvw | aFe g e Afde s ang o B i (Weegm) w wm F @, S
T 13 § WG GEIEA] il arafas TR ¥eH H "t

New generation Human Resource (HR) managers are well-versed with numbers
and technology. Human Resource Information System (HRIS) is one example of
it. Briefly discuss HRIS. What attributes will you consider while framing an HR
dashboard metrics, which can give a realistic picture of Human Resources in
an organization? 15
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(b)

(c)

(d)

(b)

()

(@)

T B H TEY § ArRE R YR e % e weu R @ fim 37 @ S g
wicatied ¥ yay frgra o ff @] A # we sy wed Ry §7 s Iw o
Hfea firg #Hifem)

In what respect is Henri Fayol’s contribution to management different from
that of Taylor’s Scientific Management theory? Do the general management

principles given by Fayol still hold good and are they relevant to the modern
organizations? Justify your answer.

ST TS F1 7 Th TS Ta AT TSHAIHS Hepid 8 G Il Hl FR@T Teqd
Hifsg | Tenr-we wfoefan # faem w % foe @ren i 28 3 grEar w27
What is a learning organization? Outline the prerequisites for a creative and

innovative organizational culture. How does it help the organization to survive
in cut-throat competition?

T G FHAR & e 1 e F oW gea 87 360-faft frarea g fafy
Tora=mn )| gearea vl A aansd A W QR g §7
How can the performance of a government employee be appraised? Discuss

360-degree performance appraisal method. How can the barriers in the
appraisal process be removed?

=1 T4 HER T (3150 Ho o) F APWE F Wy ey F wft Fricrd &= § guq afEd
33| 39 HeW H I I | A GEIEA a9 (THo HRo THo) & 1 wfaspra et
foa=mn Fifdm)

With the advent of Information and Communication Technology (ICT), there
has been a sea-change in all the functional areas of Management. In this
context, discuss the future challenges of Human Resource Management (HRM)
area in the next decade.

“quf T 34t R aRefoua @ SR 6 of Seshienon)” T Aifsig) fashesdieo i Aoft
= WA A 9T 92l 61 Sre Hifs

“Absolute decentralization is as hypothetical as absolute centralization.”
Discuss. Explain the factors which affect the degree of decentralization.

‘o =@ S ¢ 5 g w@ it -fadia e e dran 1" w19 wewa €7 S IW Rq
O < | TR ETe A E1 T TSI 6 I S e 3 ehRers ®9 8 6 el S
e 87

“It is said that an organization devoid of power and politics is lifeless.” Do you
agree? Give reasons for your answer. How can power and politics in an
organization be positively moulded for better performance?

HireTHs fewmgd & wiafda, Ja-ufafda @ refSma surmt § s o fifvm) s fa=m
T HI-91 39779 GE4E 87 417

Distinguish among Classical, Neo-classical and Contingency approaches to
Organizational Design. Which approach in your opinion is the best? Why?

15

10

10

10

15

15

10
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4. (o) ‘‘shyErie we % Ra § srigERe e e #17 @ wuR W feof A B ol |
TEUF ST TS 1 A T B AUF TR TE R FH 87

“Informal organizations are detrimental to the interest of formal organizations.”
Comment on this statement. In what ways can managers make most effective
use of informal organizations to their advantage? 15

(b) A TS A A9 F A 87 30 TR TR e o w27 38 Ged # T wresen
&7 % 35 (Fro THo Fo) 1 ITEW AT
What do you understand by employee morale? How can it be boosted? In this
context, give example of a Public Sector Undertaking (PSU). 15

(c) ‘‘wafhea &, ARG sqaER ) Ifad F §) w0 A wEwa €7 3 I v Fwo i
o Iugh Jarew oft e

“Personality factors influence individual behaviour.” Do you agree? Give
reasons for your answer and also give suitable examples. 10

(d) w0 T EEE & van % wein Rgra §, S wEe Sl ad yEye o ghad S gwfad
FA §7 I9Lh ILTEWI Agd AU IR F qHLA Ff |

Do you think that there are universal principles of management that affect the
success of all organizations and managers? Support your answer with suitable
examples. 10

@Uvs—B / SECTION—B

5. fFfafaa § & yos &1 @M 150 =1 A IWCART
Answer the following in about 150 words each : 10x5=50

(@) wham Hf 5 ¥ ge @ FER awAE (5o Ho Fo) I R fadom wfEAl T Sl %
- I9ER 1 T 996 R4 & | 3G ISTEW! I TEEAl § J IW H T A
Examine as to how Information and Communication Technology (ICT) has

transformed the traditional marketing processes and buyers’ purchase
behaviour. Justify your answer with the help of suitable illustrations.

(b) ‘NG S FAEEH rErR ges % ne s e Rk e e @ 3R
Fft-Fft we B v 217 Iug SeTEil Hied 7@ a1 Fee i
“Accounting ratios are mere mathematical relationships expressed between

interconnected accounting figures and at times may be misleading.” Elucidate
the statement with suitable examples.

(¢ TR T ¥ vl aral a @l A ga § aren A =R w1 aftma woae
=pan T fuffa e T $R-9E @ 7 87

Explain briefly the costs and benefits associated with holding inventory. What
are the considerations determining the maximum level and minimum level of
inventory?
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(@)

(e)

(b)

(c)

Wia du whEm @ra-fufo (FEn) § 9 fifse) 37 o=@ w st sage, s’ oIw
arra-frafon fftmt wim 6 s €

Distinguish between Job and Process costing. Also state the industries, where
the above costing methods are used.

‘@i’ T ‘gde WHIfd § s A 31 fagvm feufoal 6t swge semeen @ v A,
N dien’ W TFe’ WEITT 9 ¥ fmveedl % ol 6 wnfaa s 8
Distinguish between ‘pull’ and ‘push’ strategies. Explain the marketing
situations with suitable illustrations that influence a marketer’s decision to
adopt ‘pull’ vs. ‘push’ strategy.

fova gu 3amea # 21% A oft it e F Ty A fave & gy w1 @@ 991 3RS B R
A sraigig o= § gEe e e B sl TR #§ wRa % 3u IemEl & fog e
TATH ¥ TH S TSR MY A1 IR )

India is the largest producer of milk in the world accounting for over 21% share
in global milk production. However, its share in the international market
remains negligible. Prepare a comprehensive Market Research Plan to explore
potential for India’s dairy products in the international markets.

Y eEEga d AR -er aieer ) wmen w3 et @ s
FTArEATES GhE R, A sEag TREeq F) AT Fd §

Explain the Modigliani-Miller hypothesis of dividend irrelevance. Also critically
examine the assumptions underlying the irrelevant hypothesis.

e fto 1 =19 @ WA @ A 3@ (o do 3o AHo) ¥5,00,000 B AR T FH W

12% 3G @Fd, K,; W € 20,00,000 #1 3@ #0181 §f&d §oft R @rm, K, 18%

g R

(i) O IUFTH T FE FA g 1 F0AH ged Faffa Fife)

(@) w4 g G ®, K, Faifa S

(i) %4 € 10,00,000 # Tt &1 frfem 01 1 fmm = @ @ @f% € 10,00,000 F O
1 Hreq R 1 || F0 6 @ stwwTied e 6 emm R foes # F i % ey
w4 1 Rt G5t A AP 16% % el

1 A T HEH S STE HO7

Mohan Ltd. has earnings before interest and taxes (EBIT) of ¥ 5,00,000. The
firm currently has an outstanding debt of ¥ 20,00,000 at an average cost, K; of
12%. Its cost of equity capital, K, is estimated to be 18%.

i) Determine the current value of the firm using the traditional approach.

(i) Determine the firm’s overall capitalization rate, K.

(ii) The firm is considering to issue the capital of ¥ 10,00,000 in order to
redeem ¥ 10,00,000 debt. The cost of debt is expected to be unaffected.
However, the firm’s cost of equity capital is to be reduced to 16% as a
result of decrease in leverage.

Would you recommend the proposed action?

15

15

20
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(a)

(b)

(c)

() 4, I, @ e st i A off e o asem wost w5 gen e s 2 T
fafirfia 3omm # ¥g Sas wifven wHifEt $i s fifsm)

(i) ‘Fwe $fEwd’ uE FvE veEH ¥ =R Hifg)

(i) Creating differentiation even in commodities such as milk, water, edible

oil, etc., lead to creation of strong brands. Explain alternate branding
strategies employed to create such differentiation.

(i) Differentiate between ‘brand equity’ and ‘brand identity’.

 oht R e aTee (do To o THo) T ¥7 Tuh Sy WA F §7 G SR Y

(o WHo Telo) TT Wifd IR 1@ (THo TWHo TeAo) H AT A 1= HN?
What is Capital Asset Pricing Model (CAPM)? What are its underlying

assumptions? How will you distinguish between Capital Market Line (CML) and
Security Market Line (SML)?

3 yfoartt gea fapm A 3R B ww-g@ & faae f@@ ) 991 wam amaR Y fafedn w
HiFHR @d &, 99 ¥4 @ € 1,250 BREn gon § @ R 3K 8 WHEEE od 99 B
fasm B ga # A A R T e Fifa T @ v BR A f o g R o= we
faifepa & -

fagar A fasar B
fasg # 8,000 ¥ 4,500
fagbla ag # @ e #1 50% a5 1 50%
7l ¥ 2,250 # 750
a1 F=fafaa e & 3@ §ifm -

(i) =amEn i R F= fassa A, fshar B R @ T anEEs R

(i) FHEE! 6 e I 9 | R g a0 ¥ fska B w1 R kg sigrn @,
3R B %I 3f=sq ufemer ™ € 350 B7

Two competing retail vendors A and B are located adjacent to each other. Both
occupied buildings of the same size, paid the same rent, i.e., ¥ 1,250 and
charged similar prices for their products. Vendor A employed three times as
many employees as B and has twice as much income as B. Other data are as
follows :

Vendor A Vendor B
Sales ¥ 8,000 ¥ 4,500
Cost of Goods Sold 50% of sales 50% of sales
Wages ¥ 2,250 ¥ 750

You are required to answer the following questions :
(i) Explain why vendor A is twice as profitable as vendor B.

(i) By how much vendor B’s sales have to be increased in order to justify the
doubling of the number of employees at the same rate of pay, if B’s desired
operating income is ¥ 3507
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(d)

8. (a)

(b)

()

(d)

F TR G % ged § IR % F g 9 e S 87 o o # w2 % amae
F1 FH G0 F ) S R Ffe? el o AR e, W e @ s B W
wrft grafe W wH g A H 87

Is depreciation charged due to fluctuations in the value of fixed assets? Should
depreciation be provided even if the firm is in loss during the financial year? Do

firms charge depreciation on fixed assets, although the market value of the
assets is higher than its book value?

Th FH % g FaTe a1 HY YaTe faawn § s ww Aife) 3 Raeh @ R w3 @ o
wEw 87

Distinguish between Cash flow and Fund flow statements of a firm. What is the
significance of preparing these statements?

g5t st | st it v 1 F e 20 F AftmE it @, gHan o 6 @ve @ w5
At R7? 3799 I ¥G FRO WE A
What is the significance of cost of capital in capital budgeting? Is the cost of

preference shares lower than the cost of equity shares? State reasons for your
answer.

T w4 1 fawa € 20,00,000, wRedsiel @@ € 14,00,000, = @0 € 4,00,000 91
10% =47 ! & & ¥ 10,00,000 0 3| yaTeH, fodffa w6 g@gw ot i e i) af
T 1S T R A @ et (fo o IMgo Fo) fF T F W R, whiw F amum w
faser & e 9fig 1 s B0At?

A firm has sales of ¥ 20,00,000, variable cost of & 14,00,000, fixed cost of
¥ 4,00,000 and debt of ¥ 10,00,000 at 10% rate of interest. Calculate the
operating, financial and combined leverages. If the firm wants to triple its
earnings before interest and tax (EBIT), how much of a rise in sales would be
needed on a percentage basis?

(i) ‘3 TE g8 A wE 9 3fua ¥ wE fawm i o o wrifas g8 @ s &, s e @6
4 yfcaifa & faes @@ st 21 3% Gfte 1 wia & weifera sfoes faqom sqaerl % ded
7 wltgo Hifsg)

(ii) Ffaeh fauum el = Fafa F0 g ywfe e e aa yada 7 w5 d@dg §
e I |

() ‘Everything is fair in love and war’ and marketing is considered to be a
strategic war fought against competitors in a civilized manner. Examine

the above axiom with reference to prevalent unethical marketing practices
in India.

(i) Briefly evaluate the relevant legal framework and enforcement mechanism
to curb unethical marketing practices.

* % &

10

10

10

15

15
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